Name: Date:

Teacher: Class:

Multiplication 402

Why can 't you tell a joke on ice? Because the ice will crack-up!

Multiply these numbers.

L §x4= 18. x5 = 3. gx2=
2 gx3= 19 x3= % gx3=
3. /x2= 20. 6 x 6= 6 x4=
4 6x8= 2l. x4 = ¥ 6x8=
5 6x11= 22. gxb5= 3. gx1=
6. GxX6= 8. ex5= 4 gx1l=
T B6x6= 4 6x1=_ M 6x2=
8 6x11= > 6x4=_ 2 6x1l=
9. 6 x10= % 6x3= % gxb5=
10. §x10 = 27. 6 x 4 = 4. g x5=
1. §x4= 28. §x7 = o 6 x12-=
12. gx5= 2. gx1-= . 6 x7=
13. §x 11 = 3. §x5= 4. 6 x10=
4. §x7 = 3. §x1= 8. 6 x8=
15 x5 = 32. gx 12 = D fx2=
6. §xQ= 38. gx4= 0. 6x5=
7. §x 2= 4. gx3=
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Answer Key

Date:

Teacher:

Class:

Multiplication 402

Why can 't you tell a joke on ice? Because the ice will crack-up!

Multiply these numbers.

L 6x4=24 18 6x5=30 % 6x2=12
2 6x3=18 19 6x3=18 % 6x3=18
3 6x2=12 0. 6x6 =36 3. 6x4=24
4 6x8=48 2. 6 x4 =24 38. 6 x8=48
> 6x11=66 2. 6x5=30 3% 6x1=6
6 6x6=236 23 6x5=30 490 6 x11 =66
. 6x6=36 2. 6x1=6 . 6x2=12
8 6 x11=66 2. 6 x4=24 2. 6x11=66
% 6x10= 60 6. 6x3=18 43 6x5=30
106 x10= 60 21. 6 x4=24 4. 6x5=30
1. gx4=24 28. §x7 =42 d 6 x12=72
126 x5=30 29 6x1=6 4. 6 x7 =42
13- 6x11=66 3. 6x5=30 4. 6 x10= 60
14 6x7=42 3. 6x1=6 48 6 x8=48
15 6x5=30 32. 6x12=72 9 6x2=12
6. 6 x9=>54 38 6x4=24 0. 6x5=30
7 6x2=12 3. 6x3=18
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